i) LYl zeliall 2Bge (o calall s AMiamat T Ss

almahahj.com/ae

bl ) T30

Sl ) &l dall)

i 423 aall

dno N dy i)

L35Sl gl Jo31 ppall il gy o

zap Sl (i) ali

ool (Sl Yl alil] >

ol zpie Juesll Ll Hlxie) (>

LGI]‘I,}” _,\Sq_g.” (:;59 d.Jf)L@.v 34}‘)4



https://almanahj.com/ae/id=19913
https://almanahj.com/ae/6science1
https://almanahj.com/ae/6science
https://almanahj.com/ae/6
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade6uae
https://www.facebook.com/grade6uae
http://bit.ly/2VZ9P69
https://t.me/almanahj_bot
https://bit.ly/3sgt6Nz
https://bit.ly/3d3G9vw
https://bit.ly/3rgBjjD
https://bit.ly/2QCjuii
https://almanahj.com/ae/id=22660
https://almanahj.com/ae/id=20022
https://almanahj.com/ae/id=19915
https://almanahj.com/ae/id=19913
https://almanahj.com/ae/id=19887
http://www.tcpdf.org

Inspire Science Term-1
Questions- 2021-2022
Grade 6



Mass is one of the factors that determine how much thermal energy Jas 3 A yfyal) d8Ual) jlada sasd L3N Jalgad) aaf s Al
transfer in a substance. Which of the following statements best Cilagleal) Juabl (i, Chas 06N chlal) ya (sl . La Bala o |
describes the information in the graph below? ealial sl aasd) B Byl
= 2
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mass ( gms)
oyl alssl
There is a direct proportion between the mass and oaiilly mlacdl dalies G Lyla Ll dngn
a o
the temperature change SUSSUBE ST
As mass increases, the change in temperature will Hhall dayy A Leaall 8 ¢ Akt culy Ll
decrease for the same energy input AElall Cla e eedd
As mass increases, the change in temperature will Bhall Aoy & el oy ¢ A oy LS o
Cc.
increase for the same energy input aalall CDla s st
As mass decreases, the change in temperature will 3hall dayy (8 jeall (J8 ¢ Ak culs LS
d. -

O
decrease for the same energy input AalLll CDlaae el



What type of front is represented by the model below? ¢oLia T isadll lglia Y dgaal) g5 9 La

a.  Occluded front slazall dgaal) O
b. Cold front sl dgaall (@)
¢ Warm front Al dgaal) O

d. Stationary front ) 4gaall

@)



A student goes to the beach. She thinks that at night o 4l Al cagie) Ll ) Al cund

the sand will get cooler faster than the water. colall (e &Juli 1L Japll e Cigu Jlll
Which describes the student's thinking? Caulllal) JSHT Chuag (Sar S

She is correct because the sandy beach will oaia Cigas Lol £ Blall (Y dise

absorb thermal energy more slowly than the ocean L) e S ooy L))l dalal

b. She is incorrect because the specific heat of land and water are not different Giias Y dae il olually ) Bls oY disa y 8 (@)

She is correct because the specific heat o slll Lo gl 5l oY disa &

" of water s higher than the sandy beach Sl bl e el

She is incorrect because the ocean releases Bl Gl hasall oY disa e

o

heat to the air more quickly than land Ll (e ST de puuy olggl) b




4 | Which of the following explains why High-pressure .
¢ haladl s Lot o) donal) il b ) s s Laa (6
systems usually bring good weather? ’ ’ T

a. The air masses rise, causing wind that blows away the clouds agall 2 ‘_5:.1\ . < Laa cdflggll S oy O

b.  The air masses rise, preventing precipitation from falling Yl Jghas i Laa cdlggll JSU aii 0]
. The air masses sink, making it difficult for clouds to form agall JS& Cdll (e Jra Lae didlggl) S i

d The air masses sink, forcing air to move from JEY) e eloed) i Lae dilggll J€U) aiis 0

low pressure to high pressure Sl baall ) il hidll e



This table contains data on deforestation of rainforests in the AN 2 Bhaad) bl Q) e @bl Ao Joaad) 13 geiay

state of Rondonia, Brazil. Using your understanding of the water Sl (RS Can coluall Bygat Glagd aladnuls Sl B Lhgaig,
cycle, describe how the water cycle in Rondonia would be SJdeaal) B i) Lgad) S Al clpeeills Logaigy (B oliall 3590
affected by the changes indicated by the data in the table.
Juihdl . Wigaigy o Sl alsl
Deforestation in
Rondonia, Brazil
Deforested
Year Area
(sq km)
aud Akl dalec
(& es)
1978 4,200
1988 30,000
1998 53,000
2003 67,764
The change will result in more transpiration ):Si 78 G il (535

The change will result in less precipitation Jal Sl Jolaa 1) yusl) (s35e

The change will result in more condensation ST aaiss ) sl S

The change will result in more precipitation ST Uadd Jslan ) yuasll GG



Which of the following statements best describes the particles o Clasuall Chag Jad] Jidg 40 cfladl e

in the solid material illustrated in the figure below? €A JCal B daiagall dulal) Balal)

a. They are stationary and not able to vibrate Y e 5l ey dnl Clawal) @)
b. They are moving very slow and are far apart pandl lpans e By wad shaw A 0]

. They are very close together and are able to vibrate Yl e 8ylEg ) lgany a as Luf Cilaswaal)

d. They are moving very fast and far apart pandl lpdans (o Baunsg 8 e ju jas (@) ‘



Which is not something used to determine a region's climate? Sdhial) Flae waadl aadiw ¥ b L G i

a.  Number of people

b. Average temperature Byl dayy Jagie @)
¢ kinds of plants clolall ¢l 0]

d.  Amount of precipitation Sad) Johaa duS @)



The next figure shows water that has been left in a pot on

a hot stove. Vapor formation happens on the surface of the

Al e o 3ap) B A el AU JSAN gk

gl e S OS5 Jia i) 158 G g8i

water. Which type of change is this? ¢ glall
a. Condensation i) (@)
b. Boiling okdall (@)
c. Density 23 (@)

Evaporation




The figure below represents the Sun and the Earth. Which

type of energy transfer allows the Sun to warm the Earth?

.‘).dbe uu.u:u“ dfu;l bl..l.\‘ JS.:J\
fua)Y) Ay (uadll e (g3 d3Ual) JUETH £o5 98 La

a. Transmission

Radiation

Gl g lady)

¢ Convection

2

Conduction

@l Jiy)

Ghall dragl




Which of the following is not true regarding the particles

and melting and boiling points?

Glayg Clasalls @l Lad s 4 b Laa

folulally lguai)

The greater the attractions between particles, the lower the

melting and boiling points

¢ cliall g ciinll Jalse ol LS

C.

The type of particles that make up a substance affect how

much energy is needed to cause a phase change
Every substance has its own meiting and boiling points

The greater the attractions between particles, the higher the

melting and boiling points

lally Jleeni¥) dapn 8

Slo L sale Lgie (o5 Al Cilasall p55 fi

Salal) Alla 3 i sy LU 8L ke
lgj\,_ﬂéj \A_)‘.g.m.\\ :\‘A_)J Ll sale J<

¢ Q\.‘x:‘);.“ o il Jalge caaly Ll

Oldilly HleaiV) dajs culy
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How are climate and weather related? ¢ patlally ¢ Lal) Jasiyy (i

a. Climate is the weather closer to the equator el Jas N Cojil) athall ga 3Ll @)
b.  Climate cannot be affected by human activities Ll dbsll sl fly of Ka Y 0

Climate is the average weather over a long period of time ol s dlish 38 (500 o (yailall haugia b p L)

d. Climate changes day to day, weather is fairly constant Loas el gaahally cag a Lags Ll piy 0]



12 What is the cause of the Coriolis Effect? | §oulg e A pa L

a. The tilt of Earth's axis

! ggaa o O

b. The distance of Earth from the Sun ol e ! an )]

¢ Earth's position in its orbit ol Jgs Wylae d (a W) g 0

d. Earth's rotation o) s 0O
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The graph shows the solar radiation on Earth,

which part of Earth is receiving the least solar radiation?

a. The tropics

b. All areas receive the same amount

¢ The poles

4. The Equator

() e auadl] g laldy) gl oLl anuyl

?penads o) B A8 2 0n 632 sl

Ayl gl o)

il (i 5 3lalial) ses o)

cbfu\ﬂ BN O



Which of the following is NOT part of the water cycle? oluall Bygd (e deia ud b Laa

Nitrogen fixation

23

Condensation | (@)

Precipitation S Joka o)

(2}

o

Evaporation A @)
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a.
b.
(e

d.

What drives the movement of water in the water cycle?

¢ obal) A by (L Laa (sl ¢ dmsdall B oludl) g0 B

Gravity and electricity

Sunlight and magnetism

Sunlight and gravity

Gravity and electricity

el 5 ailal

Lwdliaal 5 Geadll dad

el 5 ailal

o

o

o
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The diagram models the formation of a density current Jaasal ‘_,a ALY LS €& maags (385l Ayl

in the ocean. During the formation of a density current, Laxie Jacd) 1) sleal) Jasgs ¢ ABLSY La &5 £US

water sinks as it becomes denser. Which statement

best explains why this happens to ocean water?

Juadl Ao peuds LGN cllual) (o LABES ST pranas

folainall olea 35Ul oda Gigan (v dag

bu=all gls Dense surface water sinks
aaisll abudl ols (3,

Due to an increase in salinity and a decrease in

temperature of the water near the surface

Due to a decrease in airflow across the surface

and a decrease in temperature

Due to an increase in temperature and a decrease

in airflow across the surface

Due to an increase in temperature and a decrease

in salinity of the water near the surface

a;_)d ‘:;9 uau.;_'\ﬂ_, :\AJ.\AX\ 541:1) Clacas

ol (e Zasll olall B))a

gl e elsell (385 8 (mlai) o

o)

Bhall Ay b (=lessyly

& C=EY Yy el dn 8 B3 Cace
’ T o)

zhudl e elsell i

b LB Bhall Ay 8 B3 Cases
y ] o)

ol (a oAl Al
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Study the next diagram and answer the question:
According to the materials’ specific heat, which of the

following would be considered as the best heat insulator?

i) e caaly AN L) aanl) Al o8

i L Laa Bala (gl ¢ lgall ducgil) 5y all Wy

Al glaiall 3 gall (e A o1l 5 ) Al
Specific Heats of Common Materials
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a. Carbon
b. Wood
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d. Ice
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Where is ground water stored? $dabgat) oluall GuAT Al o

a. In lakes and rivers Sy clpadl 0]
b, In oceans Gl 0O
¢ Inice caps at the poles Cypadadll o doulall aalll O

In cracks and pores beneath Earth’s surface s ghaee a3 plasally Gealdl
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As the image shows, hot water is poured into a mug and
the mug gets hot. Which of the following represents how

the energy transfers from the hot water to the cup?

Ty S (B Al plall Al ¢ Bguall il LaS
e ABUAY UK AuiS priags b Laa (s L Ll gt

St L) elall

Conduction

b. Through the air that occupied the cup

¢ Convection

d. Radiation

@bl deastdl
sl dady OIS 3 elel) (33)b o @)
Jaslly Jly! O

@hall g lay) O
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Which of the following applies to the concept of thermal expansion?

) gl psghe o 3 A sl o

Particles material’s volume increases

uLu);.“ sale PERN A

Particles begin to move slower

Particles take up less space

Particles’ motion decreases

Uad J<t a8 T Clasusn)
Ji s el 3315

Qw‘ RS); Jﬁ}



